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Read the following passage carefully and answer the question no. 1 to 5
given below:

Something strange haunts the cultural landscape of America. Moviemakers
and television producers have become the most powerful, though perhaps not
the most careful historians. It seems fair to say more people are getting their
history or what they think is history, from the movies these days than from the
standard history books. The phenomenon is probably unavoidable, yet, if the
history as presented by the movies turns out to be a Mode of fantasy and fact,
the consequences cannot be good. In the 16% century, Francis Bacon said that
history makes men wise. It follows that bad history, trivialised history, history
distorted and sensationalized can make them foolish. There is indeed something
disconcerting about the tendency of today’s movies-as history to construct multi-
colored and sound tracked edifices of entertainment on the slender foundation
of what appears to be factual events.

QA-) §5A siawyds qidl ua . 1-541 Gud 2l :
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1 Consider following statements
1. moviemakers can manipulate the actual events of history
2. the quality of standard history books has deteriorated
Which of the above statements are correct?
(A) only 1 (B) only 2
(C) both 1 and 2 (D) neither 1 nor 2
L R w2 Rar s
1. RBesd Sherd ge-ild dd 424 wuadl addl 1ud 9.
2. Sl Yddi-l oRaai s »udl 8.
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(A) ¥t 1 (B) ™A 2
(C) 1 24 2 o4 (D) sinniell w5 weL «dl
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2 As historians, moviemakers are :
(A) both powerful and careful
(B) powerful but not sticklers for accuracy
(C) neither powerful not careful
(D) forced to stick to facts
SReRis ddl Bt Filad
(A) uldsuel 2 WadAd &y B
B) ubamell du & yo Qs ud dlaz -4l AN
(C) ubBdawell ¥ wadd -l dldl
D) ™A eflsdl uA amal W W2 % WAl »ud 8.

3  Francis Bacon’s statement that ‘history makes men wise’ is interpreted by
the author as follows

(A) history aided by technological support makes men wise

(B) history as a plain and actual record of events makes men wise
(C) a sentimentalized account of events is good history as it gives pleasure
(D) good history cannot dispense the help offered by movies

gl Asei-il alsd Ol Al AUFER oud 879 Auis 3d) A
vt 53 87

(A) 2sddlodl dee wild Skt wgeld AdweR o1 B,
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(C) ue-id dde-alld Mzuel sl SlsRt 3 W Sk & sim 3 3
W e 2l 8.
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4 Which one of the following statements best reflects the attitude of the author
in the passage?

(A) Author is all admiration for the moviemakers and television producers
of America

(B) Author regrets that moviemakers and television producers of America
do not have good stories

(C) Author does not find fault with trivialised or distorted history

(D) Author does not really approve of people’s way to rely on moviemakers
and television producers to understand history.

il gsudl Ausdl sl wRRRL N W 87
(A) Quis 2ARSAL Rioue Fetlavd 219 4dl Frelaia 2uedl g2 8.

B) wARs Rz el 23 A Crelad wd wdl a9
ql duis in B,

©) Ry 589 2y sudl Sherl dws 48 well suidl «dl.

(D) Rz Flad 2R Adl Flad A Slasi AN dlsi-l
s duisn HgR -l

5  Consider following statements :

1.  movies are responsible for the children in America to neglect their
academic schedules

2. children in America are losing respect for their parents because of
the influence of the technological advances depicted in the movies
and television programs

Which of the above statements are correct?
(A) only 1 (B) only 2
(C) both 1 and 2 (D) neither 1 nor 2

il Al dwRil:
1 2dReld i »ARA suadl ennl R vl -l

5 Adl » aaleldi sulde 2sdd@-i weud s wARS qwas
el aelal wiey 2idd ol

Guilsd U4 sui sl w87

(A) M 1 (B) ™A 2
(C) 121 2 oA (D) oAl a5 wa =l
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Read the following passage carefully and answer the question no. 6-10 given
below :

We are living in the midst of a great chemical experiment, and some serious
consequences are becoming apparent to the scientists. More than 2 billion pounds
of chemicals has spewed into the air each year which are brewing a disastrous
stew. The greatest consequences of the atmospheric crisis may be global warming
and ozone depletion. The earth appears to be warming due to the greenhouse
effect. Scientists estimate that average temperature could climb about 2°C in
next 20 years. Global warming is the predicted result of the greenhouse effect.
It is created by the greenhouse gases, such as carbon dioxide and methane, in
the atmosphere. This change in the global climate would have disastrous results,
including brought, coastal flooding and increased species extinction. Also, the
scientists have discovered a hole in the ozone layer. The ozone layer is the only
protection for life on earth against deadly ultraviolet radiation from the sun. Once
the ozone layer is completely destroyed, all life on earth will cease to exist,
killed by the deadly radiation. The planet will become apparent rock devoid of
all life. And when this happens the process of industrialisation would have take
the blame which has resulted in increased use of fossil fuels such as coal,
petroleum and diesel.

(A §5A siawyds qidfl wa <. 6-10-1 GuA M) :

MR A5 q8lt AAARLS W 92 Wl 613 27 A+ diellz wReu)
Qatifal una >udl R\ B, 6 oY YIG 5l Y8l 94 BN sl €3 adl
sy B adiarell sz A sdioe AR B DAL WML w2 S W
8.yadl 30l 16U A SR8 2% 48 W B, AWM A @dudl e B
3 cfla adfui A i 2 3l adl 13 8. cdlag A\BlaL A ol eiGy A
AR uReux B, d dctiarei Al 6 Al Fau d sl edsuss, am
g At 8. APus et qeaid d g, deadly wdw gy,
wonl2lld Ritta oL 4 a3 8. dufsial A2 oneg yey A B, woA\n
a3 Y- wradendl Beldl smar g yedl w3 wqq Weqd Bl o 8.
B 35aR A 2ol -l ud 46 L A wadel Bedell yedl w2 @AY e
3l ol it AS A YA PR A vies ol D, A g 4 A e Prsae
ol ¥ AN Galadl Wl 3 ¥l R AeRl), W U doset ¥ Sui) ayaal
qul 8,
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6  Which of the following can be inferred from the given passage?
1. The use of all chemical products should be immediately stopped

2. Scientists will have a hard time to estimate the rate of change of

temperazure in the years to come due to enormous change in the
environment

3. The environmental disaster in the future will happen as a result of
increased usage of fossil fuels

Answer choices

(A) only 1 (B) only 3

(C) both 1 and 3 (D) both 2 and 3

e gaidl §f A @dudl us?

Lol s Gaedll Guilat gd o @iesidl 2dl AL,

2. wularenil »1dd 4wy seqia dld daufa) M2 drsudl suasiR
Sedldll el @uadl yod 9.

3. ol vua-iR yalareld d-ird wslMeid Suet-d aldl Gudlal

FUGLR W,
Fael [sel
(A) a1 (B) ™A 3
(C) 1 2 3 o3 (D) 2 >4 3 4|

7  Which of the following best explains the usage of the phrase brewing a
disastrous stew?

(A) Lack of efforts to curb the greenhouse effect would degrade the
environment in the near future

(B) harmful ultraviolet radiation is slowly destroying the life on earth

(C) the fraternity of scientists has been opposing the process of
Industrialization

(D) increased discharge of chemicals in the air is resulting in an
atmospheric crisis

CRyepastd] Brael oridl R\ 7 B UstAREAl A §5U AN

Hddo:

(A) Asi6 A Asdirit el G o MRl yalas o0,

B) wiearlde RBweld 4 ydl R @t R 4R e ud @ 3.

©) AufA- s wery ANePiserl Rre 8.
©) eapii Rl al 236l W A Udtaeeil sAsd adl el B,

P.T.O.
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8  Author says the complete destruction of ozone layer will make the earth
barren rock because

(A) ozone layer is the only protection for the life on earth

(B) it protects us against the deadly ultraviolet radiation

(C) none of the above

(D) both (A) and (B)

ot el uatel dyel yedl s Goors weR ol ol SR8
(A) ¥ ol suare ¥ yudll R wad o e 53 D,

(B) U uq81 e ®4d9 weardde Rkeddl sl 8.

(C) GuAsd A4 A%y 4]

(D) (A) ¥ (B) o

9  The tone of the author in this passage is:

(A) provocative (B) sarcastic

(C) futuristic (D) informative
2L §5UML Quisd aqel 3q 87

(A) Guws (B) sauayel

(C) o=l D) WuRdlue

10 Which of the following can be inferred from the passage?
(A) The process of industrialization is the only cause for global warming
(B) Without ozone layer, there cannot be any life on earth
(C) Earth’s. temperature will rise each year
(D) Changing global climate can produce positive results
e §5 WAl § 2 @oudl usy?
(A) el 2 sl APfae Asm s B
B) i AR Rl Rl VR AT Wart AR -8l
(© yedld diudirt €2 4@ qualy B,
(D) sealdl APus susleiell wn wRRWD Mol 9} Ay .
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Read the following passage carefully and answer the question no. 11-12 given
below :

Early mariners knew and made use of the change in winds that preceded
the monsoon. Strong winds blowing across the Arabian Sea are a prerequisite
for transporting the vast amounts of moisture needed to sustain the huge belt
of thick cloud that provide rain over India. A sufficient level of wind blowing
from the west is among the criteria that the India meteorological department
uses to determine monsoon onset. This year, although the winds meet those
requirement there is nevertheless concern that they have not grown powerful
enough, and that the progress of the monsoon northwards might falter. The rains
typically ought to reach much of the country by the end of June and the remaining
part by mid July. However, the waters in the central and eastern parts of the
equatorial Pacific Ocean have been warming rapidly and showing signs of turning
of in to a full-fledged El-Nino. A developing El-Nino phenomenon can take its
toll as the monsoon establishes itself over the country. If that happens this year,
rain fall in June, which is essential for several crops could be affected. A bigger
worry concerns the larger impact that an El-Nino might have on monsoon. While
most of the severe droughts over India have occurred when there was an El-
Nino, only about 43% of the El-Nino events that occurred over the last 126
yrs resulted in deficient monsoon rains.

A §50 stamwyds qidfl ua <. 11-1241 6d 2uW :

wild axad] AR QAL Ydairl Yl 2dl 3SR ARl Sdl i
dsll GUAlPl Sl &dl. PURaML Ml @lqal Hie-l 42 aesilil uzt Hie-dl ye ¥
s weil Al r3Rud 210l AYe Y §5dl uasl yil ud 8. uluy R
dazedll §sicl ua-dy wuln 2, A Muedatiel s B ) odld avuq wud
ol QUi A Wiy s udber a8 8, L a¥, %l ¥ ua-l d w3RUA
ydl 53 B, A ol s Ridt A B i uasdl Yo % Hoyejd oL 4l 2 ARl
Gy dg-l WLkt ool ol U3 B, 2 sl Budl HRU WA GLAML Y+t wid
Al Qo] vl ond B 2 e gead Yl oudl-u ouolul weldl o 8. A
3, ey o ydlu Reyadly QRGBS HeRIPR WRll audl 2% 46 @ B 2
yel usi-l Ad—~{-d Fau slwe suldl 2@ 8. Rskia adl sia-{l- weud sl
udand a3 8, se ¥ Ay 2l wudl 354 8. A w a¥l wugd an dl il
adl qRaue 3 ¥ R wd w2 ve 938 8 A s wdell w 8. Al N
Bidl 2 8 3 Na--d-d Aol DA ueid AURAL YR YA HRAHL H2ABUAAL ¥
AR 2y B, o a1l uena iy 8. Bear 126 vl Uel adal we-{l-
youaMidl @aMal 43%l 518 AR 4R B H9d AqMa 8.
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11

12

Consider the following statement

ia origi th
. The clouds that bring monsoon to India Origina(e only over the

Arabian Sea.

B 11
2. Early mariners were able to influence winds and thus make sailing

easier.
Which of the above conclusion is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 or 2
A1 Rg-) asad ¢
I olRddl A aad asdl 31 ssa wiefl Aygs W2 GeMd 8.
2. wEls AR yad Gur weud Wi ddel MR ARA Al
GuAsd s W B?
(A) &5d 1 (B) &5d 2
(C) 1 27 2 o4 (D) GuAsa 2sye <8

Which of the following statements about El-Nino is correct according to
the passage?

(A) It is related to the temperature of waters in the Arabian sea.
(B) It affects rainfall only during the month of June.

(C) It causes severe floods in coastal area.

(D) It can affect the production of several crops.

g5l Yo el andl 1Akl & R wg 87

(A) & 20l e welu dvial qag 8.

S B) A esd %ot AR RUEA ¥ WR D D,

(C) A ddld uedldl Y3 siz81 oA B,

(D) a4 4RU WL Buled R wdiudl ud 8.
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Read the following passage carefully and answer the question no. 13-15 given
below :

Women constitute nearly half of the population of the country, but gender
disparities in socio-cultural sphere have adversely affected their development.
These disparities can be seen in important social development indictors such
as health, nutrition, literacy, educational attainments, skill levels, occupational
stats and so on. The same is also reflected in the situation of the adolescent
girl. Adolescent girls in the 10-19 age group constitute almost 47% of the total
population of the adolescent in the country. But their development is fraught
with varied problems. Almost 50% of women marry before the legal age (of
18) versus 10% of young men. Overall, 1 in 6 women in the age group of 15-
19 has began childbearing. Early child bearing is most common in rural areas
and among women with no education.

A 550 stawyds Qi ws <. 13-150 G UM :

tudl @oer sl axdl el 8, wig wvulrs-urghis wRAMAL
Riade-t Il Aol RS yor wus 22 o4 8, aqre, \ue, Ra, Jakis
A, ulRidiy 2R, Haulls L9l Fal Heca-il AUy RsrL wRa el
wil Aeolarl el 2ud 8. w1 % gt Baldla-l Raftsi wou a1 14 8. 10-
19 ad-u ol Baldladal 2asi Bal aolul 47% (Rededl 4d B.43g du-l
Rust A el ol yelaln w531l 8. aamdt 50% Fedl Al 18 adl sl
Gu sl wdal % well oy 8. Al Al BaldMi §5d 10 25 F2aL o sl
QY 5l q8el Y8 B, 15-19+1 94 gl 6idl 1 Al fug wrel 54 & 8. -u-ll
Gual il oeqiel seum el Rirediz duy ik W20 N 1a 8.

13 What does the author mean by “gender disparities™
1. Role of different genders in socio-cultural sphere.
2.  Different gender stereotypes.
Select the correct answer using codes given below

(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 or 2

Riot wiuvgal-d duisil W2 § Mdao wy 87

1. urulrsuirghis uRdlel gel ofl Raql el gel oot myadl.
2. wEd-weEd R sulRa v,

A2 suder A3 uel A Kl

(A) &5 1 (B) &5 2
(C) 1 ¥ 264 (D) GuAsa sisueL -8
CSSC-GS-11-VRS-2015_D 11 [PT.O.

Scanned by CamScanner



14 With reference to the passage consider the following statements

I Social development indicators reflect actual trends prevalent in the
society

2 The gender which forms a majority of the population should be the
focus of the development.

Which of the assumption given above is/are valid?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither | or 2

5 eald A Ry asa :

Lo aulrs Rsre mued aueni addl ardRisdl 2 52 9.
2. s Wy A wuwd W sgudl Rid 6w €ldl ASA.
GUAsd 568 weu Al 17

(A) &5d | (B) &% 2

(C) 1 ¥4 2 o] (D) Gy =sueL [

IS With reference to the passage consider the following statements
1. Women at all ages face discrimination due to their gender.
2 The legal age for men to get married is 18 yrs.
Which of the inferences given above is /are correct
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 or 2

ssu @l (Au Ra-d s ¢
Lo Al el sfaen ) eds audi el w53 @
2. Nl M @t Rl siedly GHr 18 qf 8.

Al £ U/ 2L WA B?

(A) &§5d 1 (B) 4&5d 2
(C) 1 2 2 64 D) GuAsd Asyg «fs
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Read the following passage carefully and answer the question no. 16-17 given
below :

The remedy for many of the central failures of Indian society is closely
linked to broadening the force and range of political arguments and social
demands. The “tryst with destiny” is thus partly an invitation to further
engagement and encounter. What Nehru hoped would happen automatically with
the independence of India may continue to be neglected unless it is demanded
with an insistence that makes it politically critical in a democratic system. It
is not enough to continue to have systemic elections, to safeguard political
liberties and civil rights, to guarantee free speech and open media. Nor is it
adequate to eliminate famine, or to reduce the lead of china in longevity and
survival. A more vigorous and vocal use of democratic participation can do much

in India that it has already achieved.

QA 85 siawyds qidl ua <. 16-17-1 6ad ML ¢

ouRdly el ou Freadii-d Sary, urdy edldl 21 arulss 1ol

ol 47 PR Rirgd 591 A Awsell il B, »un, ““Frale wd-) Qiuel”

3 qa-odl 2 Aad RS 2R A ¥4 8. 18 B % Rag of d

gl ote uAR 3ol usd od. ol Al disamdl walaml A e AFY

I adlal qecdd Al & W2 2une Al 2d B dl d FRYs 8. Rirads 3esll

adl, urdly el o 24, WARS AMSHRA 2N, AR @A

i qell 2adotdl wet sdl, @i oy Y el dlsudll e suslledl-l ya

i i el A8 Guala 53 Ul 2R YU MR ¥ wn £ B d-u
sl weL ay w53l usly.

S S S —
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16 What does the author imply by broadening the force and range of political
arguments and social demands?

(A) A more vigorous and vocal use of democratic participation
(B) social and political invitation to further engagement and encounter

(€)  To continue to have systemic elections to safeguard politit‘:ai liberties
and civil rights to guarantee free speech and open media.

(D) The statements (A) and (B) are correct in this context.

UAY eelldl A Aulys Pl RdiR Rrgd s2amil duisl 48l Yl
sdl sy 87

(A) sl oyafledldl @y R > ol WA Gl .

(B) AMBYs A uwdY wireL gl au-sidl 2 dad awrdl,

(€) Nuieoig 3esll, urdly sundd qua R4, WwRs A&
QL AR 2@adatdl 20 qell adatdt ¥t 534l d Ag g
A,

(D) (A) #d (B) o4 qusdl »u deoldi wa 8.

17  Consider the following Assumption.

1. Author disagrees with Nehru in respect of broadening the force and
range of political arguments and social demand.

2. In a democratic system demand of participation is necessary for social

changes.
With reference to the above passage which of the assumption is/are valid?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

Al e AsRil

1. Quis 3 uwsl edldl 20 AuPrs ikl Rz Rigd a0 Ry
YR A8 AL ANd B,

2. dsadl Aeiules sedid diaal M2 sellel szl Hiay vol o 9r3d]

9.
Gusd U4 59 ieuall A=l 87
(A) &5d 1 (B) &5d 2
(€ 131 284 (D) GuAsd A5 yer -
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Read the following passage carefully and answer the question no. 18-19 given
below :

In 2009, Tamilnadu enacted a law to regulate Jalikattu. However, despite
its stringent provisions, animal rights activists and the animal welfare board of
India continued to see it as a bull-baiting exercise that perpetuates cruelty. Reports
from the field apprised the Supreme Court about deaths and injuries on and
off the arena and the different forms of cruelty the animals were subjected to
in their training. Organizers and bull owners often argue that they keep the prized
animals comfortable and well-fad. However, it cannot be denied that on the day
of the event, the same bulls are kept for hours without food or water and are

dragged in to the narrow passage through which they entered the arena in a
terrified or angry state.

QA0 55 siawyds aidfl ua <. 18-19-1 6 Ml :

oellsnge] Bt s2al W2 difa-ug 200941 s1el d-uell edl. L & -l
50 [dl QL sdi, uy hsR selsd 2 Mirdl uy seum AUl dd
sveie Gallad adld N ® & s graen] sl 8. Rewtidll suadl Ryl
il A3 Aol 205 adl Yy 2 Sl RA 2w e ugA
syai siadl qdad R el sac wdl, 2Fh B el Wka
gellaiz 3l df »ul 8 3 avll sgyet Melala AeHSs 2 Yd A B dul
B dl A el s B, A Y, A Ad Al 4 wsy 3 WEEAPLAL Rad
3 % el qen saidl ¥l ol wA Well PR AL W B 24
Alsspudl des Waantl 2ud 8 ¥l dail Aetil 20dBa wA Rruell Ralasi
wiy 53 B,
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18  Which of the following observations emerges from the passages
(A) People of Tamilnadu don’t care about animals.
(B) People of Tamilnadu care about animals.

(C) People of Tamilnadu enjoy inflicting cruelty on animals.

(D) The bulls participating in Jalikattu are trained t0 be a part of

the event.

QA 8 wadls gsaidl ardl usd O 7

(A) dba-ugu difl ugai-l Ria =l sl

B) dBia-ugt dld uysdl Rid st 8.

(©) dBarigit AN Yl YR Fdl AL HAN 2014 8.

D) nelsgil o AR wumardd WREPKL w2 Nk sl
2d 8.

19 Which of the following is the view of the organizers of Jalikattu?
(A) The bulls are fed with intoxicating substances for the event.
(B) The bulls are treated well and are kept comfortably.
(C) The bulls are kept hungry only prior to the event.

(D) The reports about deaths and injury is related to event are
questionable.

QA-unigl sl wellsgeil AqeusHl dd 87
(A) URRAL M2 2 AwsRs veid suuani 2l ),

B) vuvienz) AR W ad SRUNL D 2 A 2Mes A Avani

4.
(©) >madA §5d WPl udal ¥ opa i w1y
D) 3 w1 S @l WPl Al RYNE sisue &,
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Directions for the question mo. 20 to 22 :

Eight friends Savita, Radhika, Amita, Nisha, Rani, Jyoti, Mita and Anjali
are sitting around a circle, facing the centre. Savita is second to the right of
Anjali, but is not a neighbour of Amita. Nisha is third to the left of Amita,
but is not next to Savita. Jyoti is second to the right of Rani, and third to the
left of Mita.

us -l 20 ol 22 qi2-u FEaA :

216 oduelloll ARl RS, 2B, Fan, A, &, a2 s
USRI g Yo WA Qs B, Rl A il el dg oflw il
A4l B, ual A @Bl wdugt «dfl. Faw 3 wBidiw a8l A B, yeu afidal
R Ul dl. ol A urllen el cuydll ol WA M 38l lw B,

20 Who is second to the left of Anjali ?

(A) Radhika (B) Rani
(C) Amita (D) Mita
sl udl ofly S 8¢ B 7
(A ulust B) =u-l
(C) =Bl D) ™l
21 Who is immediate right of Nisha ?
(A) Jyoti (B) Radhika
(C) Mita (D) Jyoti or Radhika
Faudl dad wHell ouy se & ?
(A) ol (B) =ulast
(C) ™l D) ol waa uMst

22 Which of the following is the correct position of Rani ?
(A) To the immediate right of Anjali
(B) To the immediate left of Anjali
(C) To the immediate right of Savita
(D) Next to Jyoti
A3 A4 udl 0] des 565 7
(A) 2wl drd il euy
B) il dad el euy
(€) ARl dd el sugy
(D) il dra eugi
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23 A walks 4 km towards north, He turns to right and covers a distance of
12 km and now he turns his left and covers a distance of 12 km. Find
the distance between his starting point and end point.

(A) 185 km
(B) 215 km
(C) 20 km
(D) 23 km

A GrR d¢ 4 Bl 2@ 8. croue & @il dieg adt 8 @ 12 Bl
vid2 s @ w1} €3 A sofl oy A B A 12 Bll.g R s B, A
Walld A >k RBigal a2dq »idaz Jeg <7

(A) 18.5 Ball
(B) 21.5 B~
(C) 20 Ball
D) 23 Ball

24 If Lekha says, "Nisha’s father Kamal is the only son of my father-in-law
Rakesh." Then how Bina, who is sister of Nisha, related to Rakesh?

(A) Daughter

(B) Wife

(C) Daughter in law
(D) Grand daughter

avt @ 5§ “Fart Mo sie, A WA WeAL Ase Yo
8.7 dl o, ¥ Gl ad4 8, d Wa WA sy foine) Ruded] 17

(a) yll
B) ucl
C) ag
D) WAl
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Directions for questions 25 to 28 :

Six delegates P, Q, R, S, T, U from six countries UK, USA, CHINA,

FRANCE, RUSSIA, INDIA are sitting at a circular table facing the centre. The
distance between any two adjacent delegates is same. It is also known that

2.

3.

4.

3

T is sitting to the immediate left of Indian delegate S.
Delegate from UK is sitting next to the delegate from USA and CHINA.

Delegate from USA and FRECH delegate R are sitting opposite to each
other.

INDIAN delegate is not sitting opposite to the delegate from UK.

Q is not an immediate neighbor of R and doesn’t belong to USA.

ua <l 25 ol 28 W2 Ya-u :

6 UMM P, Q, R, S, T, U % 6 24 3.3, y. 2o, 41, &, A0

WA IR 35 NAUSIR 204d YR I g Hu AL Asl B. A uRL & Wl A
WaFHR2) a2 2id2 wid 8 A 3 wesdl 8 3

1.

T 3 ol uRiFMA S AAsen uoll ouy 31 Ad 8.

2. 3.3+l wRER A YA, v Au wkEkHA sl A8 8.
3. yaal. ) WRER 22 g ulfh R Aselloasl wdud ds 8.
4.  oprd-l WEGA 33 wkEkA wd ol 44,
5. Q3 R -l wdmul <l 48l 2 yoeiRia Al waMh ver «dl.
25 Delegate from which of the following countries is sitting opposite to the
delegate from INDIA?
(A) CHINA (B) UK
(C) RUSSIA (D) Either (A) or (B)
s 2ael WRMR ewrd-t WRAAED wA 44 87
(A) A (B) 3.5
(©) UL (D) (A) >4l (B)
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26 Delegates from which of the following countries are sitting next to R?
(A) USA and CHINA (B) UK and RUSSIA
(C) RUSSIA and CHINA (D) INDIA and RUSSIA
R -l sugpii su1 2t Wbl Qs 87
(A) Yaua, w4 B) Y. @ AU

(©) W 24 Y4 (D) ®RRd 4 AL

27 Who among the following delegates from UK?
(A) P B) Q
< T (D) U

Al 4.2, -l Wbl Se 87

(A) P B) Q

© T ®) U

28 If U is from CHINA, then who among the following delegates are the
immediate neighbor of §?

(A) P and Q B) Tand R

(C) Qand R (D) T and P

A U Yol wff €y dl 1R 2uden wFkd il S A dden wielsi

e 87
(A) P @+ Q B) T %4 R
(C) Q4R D) T34 P
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29 In the following alphabet series, how many times three later L, S and W
appear together in such a way that W comes in the middle and, L and
S get arranged on either side?

MLWSALSWNBQWSLWPLSNOLWTRWSL
(A) 2
B) 3
) 4
D) 1
2l »iflw youad-d Aelui, 22dl AR YR L, S » W Al »ud
® adl A 3 i W dda 92 @ A L dul S 207 ouy M SwW?
MLWSALSWNBQWSLWPLSNOLWTRWSL
(A) 2
(B) 3
€ 4
D) 1

30 Nayan ranks fifth in the class. Sunil is eighth from the last. If Tina is
sixth after Nayan and just in the middle of Nayan and Sunil, then how
many students are there in the class?

(A) 23
(B) 24
C) 25

D) 26
aueell sl Wil s 8. ylla weadl s s34 8, A A Ay
uedl 921 53 1 L Arl 3 et i yellasdl slses weni u dl aoll

eql (el ea?
(A) 23
B) 24
(C) 25

D) 26
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R jon 31 and 32 :
Directions for question 31 a History, 65 passed

d in
In a test in which 120 students appeared, 90 Pass® ', oassed in 0 diome
in sociology and 75 passed in political science. 30 stud::m : bR
subject and 55 students passed in only two subjects. 5 stu I

Then

wa -+l 31 ¥4 32 W2 Y

g0 Sherxl W qylL, 65

0 Ruellod g5 25 Ryl
Lad 5 Ruae) 25 el

As udlami 120 Renl@)l 43 8, ¥
A ABHL WA 1YL A 75 Qt"ﬁ*ﬂ.[\dlllﬁ‘l'l Yyl Yul. 3
Wl gL, w55 [enllell gsd O Ryl WA 4Y
CLTETRUTETREL (B TR R

31 How many students passed in all three subjects?

(A) 25 (B) 30
(C) 35 (D) Data Insufficient

Yeal [endl>l =90 Ryaml wa qul?

(A) 25 (B) 30

(C) 35 (D) uledl »ysl &

32 How many students passed in at least two subjects ?
(A) 85 (B) 95
(€ 9% (D) Data Insufficient
Yeal [Reandl>il 20 201 A RvuMl wiy qyy?
(A) 85 (B) 95

€ 9% @) R syl @
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33 In a group of males and females, 70% of the persons are males and
remaining are females. In this group, 30% of the persons are married.

If two seventh of the males are married, total of married females and
unmarried male is

(A) 60 (B) 70
(C) 30 (D) 40

Al A Yl Bl oEdl, 70% Yl B A sl sl B, ol
30% Bl Raldd 8. o & adia Yyl R &y dl Ralsd sl
W wifad yorldl ga Ava 32d)?

(A) 60 ®) 70

(C) 30 (D) 40

34 Find the missing number.

9 |15
8 [12]20

6 0
(A) 5 (B) 15
(C) 10 (D) 20
6915
8 [12 |20
4[6]?

GuALd Aedl e wiel wowml Ul vis wq9?

(A) 5 B) 15
(C) 10 | D) 20
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35 In the group of six persons P,Q,R,S,T and U, no two persons are'nf same
age. P is younger than R, and T is older than both S and Q. U is oldest
in the group. R is younger than exactly three persons. Who is the second
oldest person in the group?

(A) 8
B) T
© Q
(D) Cannot be determined

9 Bl P, Q, R, S, T il U L ais wysl A6 usL & et AMIA
syl 4l P 3L R 52t oledl 2yl  »A T A S A Q ¢ sl
NA . U wyeni el 03 B, R 3 g5d 281 ¥ Al sl -l 8. @l
el oflo sM-)l A AUl Qv 87

(A) S

B) T
<€) Q
D) =8l + s3] wsiy

36 Complete the following series: 6, 12, 21, 33, ?
(A) 38
(B) 40
(C) 48
(D) 45
21 A00 Yl & : 6, 12, 21, 33 7
(A) 38
(B) 40
©) 48
D) 45
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Directions for question no. 37 and 38 :

1.

2.

3.

4.

P and Q play Football and Hockey.
R and S play Badminton and Cricket.
Q and R play Cricket and Football.

P and S play Hockey and Badminton.

U 37 2 38 U Rw ME4) :

1.

P o Q g2old » 44 A B,

2. RS S3fred »a B2 3 B,
3. Qs R (22 27 geoild @ 8.
4. P S €4l »qd dabi-e W B,
37 One who plays Badminton, Football and Cricket
(A) P ®B) Q
(C) R (D) None
s ¥ ABi-a-, geolle A B2 A8 W 8.
(A) P B) Q
© R @) &S «dl
38 One who does not play cricket
(A) P B) Q
s ¥ B2 wd
(A) P ®) Q
(C) R (D) 5] -l 3 ws
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39

In the following graph, the total monthly income of Family-A is Rs.20,000

and of Family B is Rs.1,00,000.

Family-A
B Food 50%
Entertainment 30%
Misc. 20% 70%

Which one among the following statement is true?

(A) Family A spends as much on miscellaneous as family B spends on
entertainment.

(B) The food expense of family B is equal to the total expense of a
family B.

(C) Family A and B spends equally on food.

(D) Family A and B spends equally on entertainment.

0%
5 :.::‘
7, 29%
Family-A Family-B
B Food 50% 10%
Entertainment 30% 20%
Y Misc. 20% 70%

Gudsd AeMi, gdo-Adl MRS Was 3.20,000 WA gEe-Bel wias

3. 1,00,000 8.

32 wlal Rasnidl 8 wy 87

(A) g0 A %2l vyl wd 52 B dedl wd gol B wdig w2
£ 8,

B) & Bl veu—t v g A A g Wl edl B,

(€) %9 A A B Mial~t W i Wl 8 8.

D) 4 A @3 B iyt W i vl & 8,
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40 A pipe can fill the tank in 5 hrs while another pipe can empty the same

tank in 6 hrs, if both the pipes are open simultaneously, how much time
will be taken to fill the tank?
(A) 15 hrs (B) 20 hrs

(C) 30 hrs (D) 32 hrs

Bs WY 204 oRa W2 5 sausd wy A B, wud oAl Wy 3 % 24
wiell s2a M2 6 sesd Ay A B, A AR WA Ag sl 2d dl 24
Sedl AMAML My %!

(A) 15 sas (B) 20 s

(C) 30 saus (D) 32 sdls

41 By selling an article at Rs.320, a man loses 20 %. If he would sell it
at Rs.440, his gain percentage is

i

" (A) 10 ®) 20
[ © 15 D) 25

aAs argl 320 MU QL B 20% +ll Wl 24 B, %l d A ¥ g
440 3R 42 dl A J2al 251 8l 8!

(A) 10 (B) 20
(C) 15 D) 25
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42

Six bells tolling together and toll at intervals of 2, 4, 6, 8, 10, 12 seconds
respectively. In 30 minutes, how many times do the toll together (excluding
one at start)?

(A) 4 B) 10
(€ 15 D) 16

9 A Ng WA QU 20 B HA M 2, 4, 6, 8, 10, 12 Asll
ddd adl B, dl 30 Biflal g ded] ar sl Ad WA w2l ? (a3t
MM SlLsld Sl

(A) 4 B) 10

© 15 (D) 16

If the shopkeeper increased the price of potato by 20% and subsequently
40%, what is the final price per kilogram, if the original price was Rs. 25

per kilogram?
(A) 42 (B) 40

€) 35 D) 45

%l gslER w2Lst-l BUd 20% MR 2 63 40% AU )l seisil R
dls iy oua g s, o d-dl 3y oud 25 3. B dy?

(A) 42 (B) 40

(C) 35 (D) 45
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Direction for the Question No. 44 to

47 :
Chart-| Chart-Il
Medical Medical
Engineeri 0% Engineer 15%
0% 25%
Sclence
Sclence
W 20%
A
10%
Arts
15% Commearce Commerce
25% 30%

15000 students applied for admission in a college in the year 2014. :F"IE
chart 1 shows the percentage distribution of the number of students who applied
for the admission in different streams in 2014. Pie charts 2 shows the perc_entage
distribution of the numbers of students who got the adminssion in dﬂ.i'erer'lt
streams in 2014. It is also known that a student can apply for admission in
only one stream and 8000 students got the admission in the year 2014.

usn 44 ol 47 -0 R (MEA

Engineerin
30%

Arts
15%

Chart-l

Medical
0%

Sclence

Commerce
25%

Chart-l|
Medical
Engineeri 15%
25%
Science
20%

A

10%

Commerce
30%

ol 201431 15000 Rreuelll Adoril wde A4l 21w 53 8. we 1 a¥ 2014
i (R endAl 3du adl Y12 213 53¢ [Reyel2l Avaid esl e

odid 8, A

5 2 ad 201431 Rl vl el yoe Hdu-i 25

ald 8, A vel el a5 25 % AL 1A M2 23 57 W & A
2000 Rreuellzll ¥ 201441 %4 Herj)l B,
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44 What is the ratio of the total number of students who applied for engim?er?ng
and medical streams to the total number of students who got admission
in engineering and medical stream?

(A) 21 B) 158

(C) 5:3 (D) 7:4

D ludlol w1 Alsari 2129 ¢ g Renallsi-u e A-@-ludoL 2
Asani ¥Au Ande ga Raelxd gedr ded 87

(A) 21 (B) 15:8
(C) 53 (D) 7:4

45 What is the difference between the number of students who app“ﬁ.j B
commerce stream and the number of students who applied for science

stream?
(A) 250 (B) 500
(C) 1250 (D) 750

e Wl e e Raelbld dva w1 Rart weisl 2R K9
Renloill Avudl delad 2dl 87

(A) 250 (B) 500

(C) 1250 (D) 750

46 What is the total number of students who applied for admission in science,
commerce and arts but did not get the admission?

(A) 4200 (B) 4800

(C) 3800 (D) 4400

al Realzi-d v 22dl 8 A Ra,alRiod s 2dunl 23 s
yig dua uda « Hel?

(A) 4200 (B) 4800
(C) 3800 (D) 4400

47 For which of the following streams, is the number of students who got
the admission as a percentage of the number of students who applied for
admission the highest?

(A) Science (B) Medical

(C) Commerce (D) Arts

2 sude 5 aridl @@ sa-l Al wdy AnaR Rl
esidl GRdan 87

(A) [l B) #dsa
(C) ke (D) e
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48  The cost of 2 tables and 4 chairs is 3600, while 1 table and 8 chairs cost

the same. The cost of 12 chairs is:
(A) 3600

(C) 3200

(B) 4000

(D) 3000

% 201 AN AR el ey 3600 et B, ik s 2od v wits WAL
MU WML o B, Al iR yelledl oua dedl s

(A) 3600 (B) 4000

(C) 3200 (D) 3000

49 A person covers the certain distance by car at the speed of 30 km/hr and

comes back at the speed of 60 km/hr. What is his average speed during
_I his travel?

(A) 38 km/hr (B) 40 km/hr
(C) 37 km/hr (D) 45 km/hr

r B Ald 512 gl Ays AidR 30 Bafl/saisdl 2l 27w sl quid 60
Bafl/sansl 230 50 B, dl w0 2ull yauedl et ol AL By kedl?

i (A) 38 DBoll/seus B) 40 Ball/sans

| ©) 37 Dalysaus D) 45 Dalljseus

, 50 3 yrs ago, the average of the family of 5 members was 17 yrs. Even after
the birth of a child, the average remains same today. What is the age of
the child?
(A) 1yr (B) 2 yrs
(C) 3 yrs (D) None of the above.

3 af udal 5 Azl A géoll AU G 17 avl sdl. s suas-u
eodi v i g2l e Gur dedl o B, dl suasl Gy dedl

ogesy 9qll

e?

@) 1 ®) 2

© 3 @) Gudsaridl ssuel R
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51 A student has to score 40% marks to get through. If he scores 40 marks
and fails by 40 marks, then find the maximum marks set for the

examination.
(A) 250 B) 300
(C) 150 (D) 200

s Re]X WAL qaL M 40% 98l A, A 40 8L Aad B 21 40 el
AMR WY B, dl w0 wdadl g4 Rl kel 87

(A) 250 (B) 300

(C) 150 (D) 200

52 Kalpesh spends 40% of his salary on Rent and one third of the remaining
on transport. If he saves Rs 450 per month which is the half of the balance
after spending on Rent and Transport, what is his monthly income?

(A) 1125 (B) 2250
(C) 4500 (D) 2500
sela Wdidl diasd 40% olRL sl 2R oufl-L el As-gdluia

yRae w2 v 2 9. A A wBA 450 Rl oA sl S dl el
2 uRae u2 Wil sl oue oadl w1 2z Fed & dxl -l

suas sedl?
(A) 1125 (B) 2250
(C) 4500 (D) 2500

53  If the length of the rectangle is increased by 20% and breadth is decreased
by 10% then the area of the rectangle is

(A) Increased by 10% (B) Decreased by 10%
(C) Increased by 8% (D) Decreased by 8%

o doilzarl doud 20% vl 2 A wdous 10% w2l »ud
d A4 g Aisa eq?

(A) 10% a4d (B) 10% u2d
(C) 8% audl (D) 3% ued
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A person travels a certain distance at 3 km/hr and reaches 15 min late.
If he travels at 4 knvhr, he reaches 15 min earlier. The distance he has

to travel is
(A) 45 km ®) 6 km
(C) 7.5 km ©) 12 km

A5 Al 3 Bljsausd el Qesy 2 st A 15 Bz DA W B.
B A 4 Ballsais Hl ned sy vidz sl @ 15 Bidle addl wdrll 2.
dl A9 sug vig ga R Jod?

(A) 4.5 B ®) 60

(€©) 7.5 Bl D) 12 Bl

55 50 kg of an alloy of lead and tin contains 60 % lead. How much lead
‘ must be melted in to it to make an alloy containing 75% lead?

(A) 20 kg B) 30 kg

(€) 25 kg (D) 40 kg

50 (3.2 23 217 Antell Braugmi AR 60% B. ARUG WU 75% s
| il 3od A 6hg el

| (A) 20 B=u B) 30 B3

| ©) 25 B D) 40 B3

56 Single discount equivalent to successive discounts of 10%,10% and

10% is
(A) 30% ®) 10%
€) 729% D) 27.1%

AT axd W 10%,10%, 23 10% A% M5 RasGe sunami =1l 8.
ol a-ll s WS ¥ Md RegiG-2 g €y dl 22q 2ug ASA?

(A) 30% (B) 10%

©) 72.9% () 11
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57 A candidate attempted 12 questions and secured full marks in all of them.
If he scored 60% marks in the test and all questions carried equal marks,
then what is the total number of questions in the test?

(A) 20 (B) 25
€ 30 (D) 24

s GAEAR 12 Uadl yus 2l B v sl Yo el Aad 8. A d
wdlai 60% o8l Anadl dd A udlaunl qul usl-l R ASAL SIY
dl &L ydlaul ga deal usl 87

(A) 20 (B) 25

(€) 30 D) 24

58 A man borrows Rs.800 at 10% simple interest per annum and immediately
lent the whole sum at 10% compound interest. How many rupees does
he gain at the end of two years?

(A) 6 (B) 10
©) 12 D) 8

s Al 10% «1 URls o €3 Alel 21y GU 800 IRUL GYR A B
dd ¥ 10% U Ulls euxed sl Ay GR Gur WA B o)
2 q¥ ~il »id dd ¥eal M-l ews ya?

(A) 6 B) 10

© 12 D) 8
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59 Rs 1 i it
150 is to divided among AB and C such a way that the ratio of

share :
of A to that of B is equal to 3:2 and share of B to the share of
C equals to 3.4, Find C’s share,

(4) 400 (B) 450

© 300 (D) None of the above

1150 30l agagl A, B wd € ol 9 & DA KAl & 3 A %13 Bl

ML YelleR 3:2 2 B 343 € L ouot-d JedeR 3:4 Qi dl € U oot
Jeel 3Rl »ad?

(A) 400 (B) 450

(C) 300 (D) Gusamiell As yet ~fE.

A is twice as fast as B and B is twice as fast as C. The distance covered
by C in 54 min will be covered by A in

(A) 216 min (B) 27 min
(C) 108 min (D) 13.5 min

A 3 B 5l qued a8l & 2R B 3 C sadl seill il 8. C gt
54 Pzl 42 Al 2099 wdR A Jedl wwul W KA

(a) 216 (e B) 27 Bifqe

) 108 B2 D) 13.5 MMz
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Read the following passage carefully and answer the question no. 61 to 63
given below :

Discussions on drug addiction should also be concerned with the vast
majority of people who are not addicts. Their homes and lives are insecure
because our narcotic laws drive such people to crime. The drug addict is almost
never dangerous when he’s under influence of drugs. What makes him dangerous
is the desperate need for money to buy the next dose. Drugs are available only
in an illegal black market. The costs are stupendous and this is what drives
the addicts to steal, rob and even kill.

-0 §50 sawyds il ua . 614l 631 Gl 2wl

Wes velddl el 2, d i ¥ F ol Al dudl des el wid
g Ao.d i 4 2N VA A vudnd U B, SRR sve -usilRs
Sl dal @A oL sal drg WA B, Hies yeidHl ol ol Al €y
8 AR A WU uel Mupets 4l ddl. o ses yeilHl Hal A W2 F WA ASA
B d dld euw-s o-id B.ui Hies veldl 3 g5d ML Alddl S0 AN
o A 8. dies yerldl Baud vor qu du @ A 4 o audlad A, desie
duy A6l el dg Wl @d 8.

61 According to the author, discussions of drug addiction are generally
concerned with _
(A) Addicts |
(B) Non-addicts
(C) Criminals
(D) Black marketers
avisl (Rl Yool Aaeld-l 2l - wd Age /7
(A) el dd quadl €l wd
B) «w-l dd < 4Rl4adl €8 wd
(C) U A

D) sl SARPL Wl
CSSC-GS-II-VRS-2015_D 36

Scanned by CamScanner



62 Addicts take to criminal acts because

(A) Drugs make them lose self-control

(B) The habit of robbing and stealing is hard to break

(C) They need large sums of money to buy drugs

(D) Law is powerless against them

WA YR ughe) A U B SR8

(A) Ul 2R Jzq vl wlrisel pudl 83 8.

(B) A WE A »A desiedl vied Bladl B U B,
(©) Al el wdeal AxDA 0 Wl sl G B,

(D) $MEl U dedl WA Q@RAR Y B,

63 The authors seems to criticize the narcotics laws for
(A) Being too lenient
(B) Being too complicated
(C) Being ineffective
(D) Driving addicts to crime
aus Rl sl dst 8 B SR8 3 il sYel
(A) vu sadl anaal 8

B) “ot o el 8

©) DBiwirsis d4 O

(D) <A Yl AR W2 ARa 52 8.
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Read the following passage carefully and answer Question no. 64 to 63

During his early days as editor of the popular magazine, Saturday Evening
Post, George did much of the reading of the unsolicited stories. This meant
endless hours of sitting at the desk, pouring over big stacks of manuscripts, trying
to decide which were worthy of publication and which were not. George became
an expert at making these decisions.

One day he received a letter from a would-be writer at a complaint.” Last
week you rejected my story” she wrote.” I am positive you did not read it,
because, as a test, I pasted together pages 14, 15 and 16.” The manuscript came
back with the pages still pasted. There is no question in my mind but that you
are a sham and a disgrace to your profession.”

George’s reply was succinct: "Madam, at breakfast when I cracked open
an egg, I don’t have eat the whole egg to know it is bad."
A0 85 siaw yds aidfl us s%is 64l 681 G wNL.

w5 vRL AR 4BaR Safior Yeedl doll oo duel U3vid-L AHUAL,
qell ol wiqikod quald qill, »i-d Hdas A 3 @i v died aHy s GWR
SRl 239 u3g, eramdl-i Nt sl A 58l 529 3 56 st Doy B A
56 Adl. 0% w0 usR-1 Frelll daril oL wIdd a4 o).

A5 R d4A As Quis i-iqL HidtdL Yot dzedl sRule wud], ‘Ot sl
a0l il A% 5307 Qe vy U wiadl B 3 adl A qidll ], sR%L
3 anidl wdlan s2a W2 A 14,15,16 Ao+t el A4 €41 sl B sdud ¥
A witl A galt Al o wiedl wudl. i1 129 3 ws 4ol 3 dd L L
g scds o) A i or1ad ),

FOB gae sised Al 2 WA &dl AN, WRA ARrdL Qud
¢ 6§ 6 & AR MR §§ wus B A @l W2 AN 20 el %32 -l widl.”

64 George did much the reading of stories
(A) if they were the solicited ones
(B) when they appear to be bad
(C) when they were from women writers
(D) when they came unsolicited

1% Hawewodl Al diad gdl

(A) 2R ailbsd adlx 2udl &y

(B) %R d adl>] wue gy udl &y

© iR 4 4Ear Ausl g el sud) dy
D) %R 2qifsd adil wudl &y
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65 Gﬁmﬁe_“’as a good editor because
; (A) His reply to the angry writer was polite
EE; }f;: anngized for rejecting the story without reading it
uld find the worth of a story with little effort
| ) He was promp in wriing letrs
. PUE As A Aues say sl 3,
(A) o A ulel QuAN el Faus L
(B) Al R wadlsr 3y qidl Wiz A él 1ol
. (©) M4 201 el Qo) il Bt el wsdl <l
(D) da) Auefl woil vl usel sl

I 66 The lady wrote a letter because
(A) her story was rejected
| (B) a story was rejected without reading it.
(C) her story was rejected although it was good
s (D) George was biased in his decision
| yRaa olg Al @vdl SRRl
(A) Al sud vdlsin Al 2ued edl.
@) Al su-dl QiR R wdlsiR KA 2l Sl
©) Al s WA Qau vdi d-l wadlsiz sl 2l sdl.

@) o3 el ydausysd edl.

67 George’s reply was

(A) Irrelevant (B) Rude
(C) Witty (D) Angry
opilgl YR

! (A) wirgd edl ®) ka4
©) [l D) R

68 George read the stories '
(A) Because he enjoyed reading them.

(B) In order 10 publish them.
(C) Only to find fault with them.

(D) In order t0 review them.

\ qiadl 58l ¥
‘:;ff ;::ftwt wnl B) il wsifd s &g

(€) ™At Ml odl S8l w2z () Wl R xR

AR GAN'FARY SR NFE B
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Read the following passage carefully and answer the question no. 69 to 71
given below:

One of the most serious problems confronting our country is that of a fast-
growing population. In fact, it is at the root of many other problems. At the
moment, thanks to planning, we are able to produce food and clothes sufficient
for our people and even in some excess. But if the population continues to grow
at this rate, it will not be long before the surplus turns into a bare minimum
and even a deficit. The position in regard to accommodation is even now far

from satisfactory in spite of our efforts.

A+ 45 siwyds aifl us . 69-711 Gud dud :

el tudl il oA AT o yadl &y dl d B, vo sl adl 28l
qxdl. asd, d uell oyl yeddlals ya sie B, i a8l Uy Y-l FUHR
Mrdl AASA 3 Al @R BUNRA YRl UMRIML B B Su3L Gllet olotd
AAM quL Wl uig, % aadl 20 e o qudl A dl i g Ul sealdl
AR -8 @l vel NWR) S Odl 2UNSL WSEL susld BBl Wi A,

69 It is ‘at the root of many other problems’ means that
(A) It is found along with many other problems
(B) We are not able to see their causes.
(C) It gives rise to many other problems
(D) It is buried under many other problems
“al gell xRl YU B d+l Mdas
(A) d @ sedly wval-l wd wdal va 8,
(B) d-il sie) et AT usdl 4.

(©€) d 2 well ™l -3y 2l B,

(D) A w4 well MR- A eondd &.
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70 The present satisfactory position in regard to food and clothes is due to

(A) the fact that the population has been controlled
(B) our good luck

(C) good rainfall

(D) our economic planning

Sl WIS A Ml AdNYAs Rafid sie 4 87
(A) Rl Felsrii »udl 8.

(B) 2vg] Ao w B,

(C) e WA us) 8.

(D) gl 2uls 0%

71  If the population of India continues to increase at this rate, the situation
in regard to food and clothes

(A) Is likely to remain the same

(B) Is likely to become less satisfactory

(C) Is likely to improve

(D) Is likely to vary up and down.

of) opa+ll arel i % £ Al B4 dl YRLS 2S4S ARt wRRalk
g 27

(A) -l au % W

®) udawl 1 Adusrs 2l

(©) yudl ¥4

D) auuz 2l KA.
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Read the following passage carefully and answer the question no. 72 to 75

given below :

One day a tea contractor, Mr. Joshi was working on an _
wife and daughter. He noticed a light movement on the edge of the jungle, so
he stopped to watch for a moment. To his astonishment, a large tigress appeared
and came towards Mr. Joshi. The tea contractor was a very brave man. He told
his wife and daughter to run towards a nearby road, while he stepped to fight
the tigress with a knife.

The tigress sprang at Mr. Joshi and knocked him down but he managed
to wound it with his knife. As a result, the tigress and Mr. Joshi knocked each
other unconscious. Luckily for Mr. Joshi, a friend heard the noise of the fight
and came to investigate. He found Mr. Joshi and carried him to the road. Then
he stopped a car and sent the injured man to a hospital, where he eventually
recovered.

estate with his

The tigress disappeared for a few days but was later hunted down and
shot by a game ranger. The game ranger discovered that the tigress had injured
her paw in a wire trap and had been unable to hunt wild animals in its normal
manner.

A 850 stawyds izl ua . 72-754U 6dA Ml

A5 Rad Al A5 A-aser, sluqt Al da-l qrisd BuR dyl vl M
Asdl A s 59 WL Sdl. AHEL FRLEHL B A5 ed-Ad- YA WAl 2
dall Bs e W2 AsAl ddA Aol Y4 T An A5 el duHll s wud)
ydiafl, dall vor YadlR sdi.dsa Al uell 2 Yol 5§ 3, il dws-n 3
dg 2ll, Al Yl dall Ul amel e dlm sRuRr ey wpoe quy

il sl Al dre 20 adl 213 4 13 Wl i, wig Aud W
ggudl Qe gsait wdlusy. MReud ae AN sluiq gl o oys sleaxi
02 ws st Adlu rRlo oL du Bls Bt B gy AUY UM AL,
deda iR as@iel s3. doiel sl AR Doy 213 Juy 9. 4L @ oy,

il udl A4 217 AU R LU @S o, i Ja) Al wuoy

il qEel 3 By W2 wigw ud g, Wig, A+ dy UMY By Jeonn
g RisR 96 ol A% 39 WRIAU MR 3 Qi) ya As WUByni e

ddl. dril sR8L A ¥l weld-d Rus sdl ysd) 4 adl.
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| 72 E:I;en 13::1 Mr. Joshi’s friend go to see what was wrong?
. When he saw the tigress attacking his friend
(B) just before the tigress was knockdown
| (C) when the friend was knockdown
| (D) when he heard something unusual -
i_ 595 18 B A Rt i Al Prot sR 2ued?
| (A) %R A Qe Vit ot w2 gidl sl B9,
| B) ame 3 ey as,
| €) R A Piat 0 yess o

D) 2R AN i85 -y v Acioudl.

73 When Mr. Joshi saw the tigress, he was

(A) surprised (B) afraid

(C) nervous D) angry

U AR qagA A, A

(A) 2uadald qy B) AMUS Al

(C) g 2l D) Rl sudl 2l

74 Mr. Joshi stayed on to fight the tigress for
(A) he wanted to try to protect his wife and daughter
(B) he was a strong man who loved fighting
(C) he couldn’t run as quickly as his wife
(D) the tigress caught him before he could run
el qeel Al @l S A SR8 &
A) A Wil ycd 213 s suaa Hidtdl sdl
B) A s wed YW sdl ¥ aud wie &dl
©) A il ucll F2dl asudll ool A s,
@) & ol u¥ A uddl e d usdl dldL.

75 The tigress had injured her paw
(A) from the knife attack by Mr Joshi
(B) gun shot of a game ranger
(C) in a fight with another tigress
(D) in a wire trap
qeel Ul we 4 el sl 3
(A) A adl R quudl giel s ddl ed).
®) Rsdal dit R sigs Adidl sdl
©) -y awel B8 a-ll ass ad odl.
@) 3 QR UMl d sl AY odl.
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. 80 given
Read the following passage carefully and answer the question no. T30 grv

‘ below :

Finally, there arises the question as to our leadership potential. Although
the entire younger generation by very definition is 2 potential storehouse .of
leadership, I feel that our universities provide the huge reservoir from which
the future leaders of this country will be forthcoming. 1 have had occasion to

s S i country.
travel fairly, extensively and to visit a number of university centres in the try

It is deeply encouraging to see that despite the economic and other difficulties
which these young men and women how to face they are full of energy and
idealism. The real question is whether we have the ability and imagination to
tap this reservoir, to fan the sparks of youthful idealism into bright flames that
would illuminate the future of India — the India of our dreams for the building

of which countless generations have struggled and sacrificed; and India socially

emancipated, economically prosperous, politically integrated, militarily strong and
spiritually dynamic.

QA 550 stiawyds aifl us . 76-80-1 GuA Ml :

Ba2, wiuell Aged dudl GU ua Ge™d 8. A Rl vl 4l 44l A
oquyl WMISL Aged wesll s A4S B, A Al B ¥ el Rensvii sy
2oL M2 eifamel Aged sURL Al Ald 8. d welA A wall iy B % wPls
»a ofle yadlpilrl 2 yad 2 Yadlsil e s 9di dai) Yo % BRls
wA 2usdell eden 8.3l s @ 8 3 g el wd A sl Any REarslea
B & Fruell et 2 Al Wy G2 3 adla, duey 2 oRogau-lavy sl
35 aeadl oild Ul 3 F-el ded Sud- MR GooR 53wy UL
MiRd o1 3 FA s-uqalil vy AdlH) A Auy A oyfyg UL B oA

weulrs AQ s, 2Ps Ad Wye, AN A Dede, a3 WO
qRls Ad silielle o-ud.
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76 The writer
L

believes that India is
Socially emancipated

2 Economically prosperous
| 3. Spiritually dynamic
correct choices
(A) Only 1 and 2 (B) Only 2 and 3
(€) All1, 2 and 3 (D) None of them

Qus 4 B % ayaq

Lo ueulss 94 ysa
2. wlls 94 uer
3. sl dd afie

A Rsal
(A) Mt 1 w4 2 (B) A 2 ¥ 3
(C) 1,2 ¥4 3 o . D) =la U4 224 «dl

77 What is the author’s tone in this passage?

(A) Optimistic (B) autocratic
(C) pessimistic (D) Partisan
2l §5AML Avisy qdel 3q 87

(A) el (B) @uvel
(C) [Muwael D) wawdl

78 Where will the future leaders of the country mainly come from?
(A) the families of present political leaders
(B) the community of social scientists
(C) the universities
(D) the entire younger generation
2ol G- Houd: suidl 2uad?
(A) sl AL geoliall
(B) aneraalvil el
(©) RuafrenadlHidl
@) @il ya Wil
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79 For
(A)
(B)
(€
(D)

(A)
(B)

(©)
(D)

realizing the India of our dream we should

have an imagination to exploit our budding leadership potential
admire the sacrifices made by several generations

bring about more technological advancements

provide better facilities for sports

BUMRIL QWAL G WMAL M2

AN GoRAL Agard Hery Gulol saidll s %3l 8.
A6 Vel e oRerA wiw Rl 3R 8.
Yls 2w aiqaidl ¥3 8.

W™d-1d M2 A yaddl smal ¥3R 8.

80 What is deeply encouraging about educated young men and women of
India?

(A)
(B)
(©)
(D)

they come from the richest reservoirs of leaders
they are full of energy and idealism because of quality education
they are full of youthful idealism and imagination

they are full of energy and idealism in spite of economic and other
difficulties they face as students

olizd-l Rl 3as #wa yadlal R 585 susd Wuedw-s 17

(A)
(B)
(©)
D)

dal Al ¥ye Ad 8.
Rl fuae dI} dxll Gol 27 suedaiesl wRyst .
dall yau ied A seu-udl WRyst 8.

Qatll 20fs 21 24 yudlbl odi, A God @1\ wuesdqe]
yRysl &,
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| udlan ydl @ one Bueaél (OMR SHEET) @il ferflaisa |
| uza sal ofie o adfvis Blsdicll 282, I
| A An s2api sy wddl Rrdacidiei wiai el |
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